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Cviceni 8 ZDM

Domain type: 2dbeam, default ndofs per node is 3, per side is 0

DofManager output:
Node 1( 1)
Node 2( 2)
Node 3 3)
Node 4( 4)
Node 5( 5)
Node 6( 6)
Node 7( 7)
Node 8( 8)
ODM

DofManager output:

Node 1( 1)
Node 2( 2)x
Node 3( 3)
Node 4( 4
Node 5( 5)
Node 6( 6)
Node 7( 7x
Node 8( 8)

dof1
dof 1
dof'1
dof1
dof1
dof'1
dof1

dof 1

dof1
dof 1
dof1
dof1
dof'1
dof1
dof1

dof 1

d 8.02464539e-03
d 8.02464539e-03 dof?2
d 6.28590961e-03 dof2
d 6.28590961e-03 dof2
d 2.92103990e-03 dof2
d 2.92103990e-03 dof2
d 0.00000000e+00 dof2

d 0.00000000e+00 dof2

d 8.10981322e-03 dof2
d 8.08511934e-03 dof 2
d 6.32122421e-03 dof2
d 6.32341903e-03 dof 2
d 2.93107047e-03 dof 2

d 2.93057871e-03 dof 2

d 3.03612170e-14 dof3
d 2.11866489¢e-14 dof3
d 2.54807875e-14 dof3
d 1.25624644e-14 dof3

d 1.54378933e-14 dof3

dof2 d 2.56397657e-14 dof3 d-1.30700857e-03

d 8.06898598e-04
d -8.7415045%e-04
d-2.86141531e-04
d-1.44446120e-03

d-2.60425544e-04

d 0.00000000e+00 dof3 d 0.00000000e+00

d 0.00000000e+00 dof3 d 0.00000000e+00

d 5.12871705e-04 dof 3
d 6.07128295e-04 dof 3
d 4.23802043e-04 dof 3
d 5.09531290e-04 dof 3
d 2.51294928e-04 dof 3

d 3.08705072e-04 dof 3

d-1.32215806e-03
d 7.99590585e-04
d -8.85346942e-04
d-2.94260173e-04
d -1.44982396e-03

d-2.66879023e-04

d 0.00000000e+00 dof2 d 0.00000000e+00 dof3 d 0.00000000e+00

d 0.00000000e+00 dof2 d 0.00000000e+00 dof3 d 0.00000000e+00

1 2
3 4
5 6
7 8
XXX XXX
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